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May 28

(Ow) °5u2 AP N2 XOX WIN DX
Maybe this is even according to the 0211 of XN "1

(1 0m) N2 5502 1hu oIk 0°nom

DX D°KXIN

All of the X2X and X2X somethings in 0"w:

(:10 7I°am) TUHX XAX
(:3 7%*2) Drv3 12 MUK XX
(.1 M272) Pr°1a XaX
(.1 @2PW) 13’ 12707 XaAX
(P MN’) *X°0 12 °0P XAX
(.72 M2N)(.30 N23uN) PPN XX
(P MN2’) MIXY XX
(.02 77¥*2) 302 12 DINY XIX
(.79 M2IN2) 0 KX 12 IR KIX
(.20p MND) 177X WK TP XX .
(.7 0°m27)(:17¥ MN2°)(.TO MND?) 137 XIX .
(23 71°37) °X017 12 °0P XIAX .
(.12 M2712) *XN01T7 12 °0P KIAX .
(:X2 MP1uN) XINIX XIX .
(.12 VIO NPYNT) TN KIAX .
(:X° T0 PN TP) °D8 T PIA XAX T .
(.72 7T10) 12U N7 XIAX T .
(:7M NAW) 721 AT XAX T .
(:10 D”31N) *70P TNT XAX T .
(:¥ DYpWw) XPNT 1A RIX T .
(X AU T2 77 XNAP) RPN 12 XIX XITT X0 72 XIX .
(2 7Y 2P 77 NAW) NI 72 NIAX .
(:0 NAW) X737 72 XIX .
(:0 NAW) XA 72 XIX .
(:11 M2IN2) 12 712 XIAX .
(.17 P©23) X0 72 XIAX .
(:30 M) 727 712 AN T TN XIAX .
(.77 D12712) XAX 72 XM T 72 XX
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Xax
(72 W) (A D) XaAX M
(:rP M272) XAX A XAX .2
(.3 DY) (XX X I °K) 2T .3

The TN>N11 X121 mentions there were two > ’7’s but he doesn’t mention that there were two
XIX "7’s , but | wanted to say that there were two X2IX "7’s.

Here is the other *wX 7, by the way, since it is right here in P©’1 NoonN:
(:U'? P11) °27 AKX WK T INXK XPIT T INRK X7 0K
And these are the words of the Tn?N71 X12n:
"MNTPN WX IR AWK 1N
The 2”731 M3 right there in 27> MX writes ]1’51:'! 54 ”n X TINY 10 71010 7

Here is the X3 in 7210:

D77 XAW 7PIOWK 770K B 1107 YN X4 NPw 03w PRI 12107 7 Xy N9OXK D9K "N

(.12 71210) 121 X2INT X1 XOX 7K DK
The 11°21 says about that *wX ":

XIPXT2 X217 0P 2’28 72X Xil Y W IRY 1Y XD X5 OXT NNTRPI WX 13707 X
22U PR XIPKTD WK M 7911 X217 W 0121 .70 ManD

Based on the X711 in 110’ | want to ask is it possible that "7 *wX "1 saw 27 and that would
make him very very old at the time he was talking in learning with »2X in 7210, and who is
quoting *wX "1 there in P©A? It is X131 7, the one that >17 said should be w72 2w after he
passes away (:3P M2102). So | want to say that it is very likely that this > "7 saw *27. So instead
of saying that there were three *wX "7’s | want to say there were two and the earlier one lived to
a very old age. It is also interesting to note that the one in "’ would have been in PX7” X,
and the one in 71210 might have been in 913, so if they were the same one then the TP WX
moved to 723, or he was still in Y7 X and he corresponded with X through letters.

Back to our subject: X2aX "7;

In a previous post | wanted to say there were two XaX "7’s.
There was the earlier one who was a 71?1 of i1 "1 and then went to X1’ PIX.

53 T T IAKT PROYCT XUIKD pOPRY 2Ua Xp M AN 2277 PP RN XpP i XX
(:72 M12712) 21 PP AR XA 71922 TAKIY AW 120 PRI XD 9230 A

And then he went to PX” yIX:

i
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*DD 72 XPIN N AP 9 PHOWK ONA? 2770 22 DIpNnT XN KPR MU X IR XAX %000 .2
(.72 71%°2) 121121 712 K1 X1

So | want to say there was a later one in the generation of "wX "1:
(.7 3uN) (72 PY23) WX D XIAX NP 0K

However perhaps we can say that there was only one X2X "1 and all the XnX's where he was
talking to *wX "1 these XnX's are all referring to NP7 WX .

So | am concluding exactly like the >N X1an.

Someone might ask, “This is all a repeat of material from previous posts, have | added additional
material that | missed? Did | not get all the X2X’s in the previous post? In response here is some X111's
that | am adding to the 115 X214 shtickle of Xn)'s that talk about Ravens.

(.7 PR23) P TR X1 X2 XX .1
(:on MAIN2) AR KPR P .2

There is an interesting N0 >”¥/1 NPY2MN here in this last one. MBDOIN says that these are two species
while >’ says they are the same species and the chicks are white when they are young so the parents
don’t love the kids as much because they are not the same color as the parents. Then when they grow
older they turn black and the parents love them more.

NPANX
| want to say there are at least 3 °1’2X’s in 0"

(21 M) o9 7R .1
(:2u MaIN2) ax .2
(:°p NAW) 172X 7 P12 AK .3

R 7a K131 )

Category: Colors and Dyes:
(:7P P2W) ©"PP’EMX *"WID XN

The modern english word is “Orpiment”.
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An Old French Vord
:MDOIN TuY
Here is an old french vord. The vord is 7”7”1:
Category: Colors and Dyes:
(Cnoo A At XD 11010 '01N) 121 7" PRINPY UKD IARINY UNWA 20700 17
Here are the current day words for Green:
Spanish verde

French vert

You can see that the Spanish word is more similar than the French word.

A 7111 Vort

°27 ADIPW 271 MK AR WP TR 2127 11KY 1WA 2297 7 X IRIK X220 1.11.191 PINn
TR A2 91721727 TIAPK TRIX 0P M1 1AW MU 1R XPNR0 17T 2290 7 X0 K 0900 Cor
NX 07 X921 2°N27 DN 1R °9°03 20 M1192DK K12 1121 3277 MPAU 1722 XK '3 1121 121 1T 107
(:77-.77 1V10) 12292 PIX 227

| want to ask so if someone is scared than he shouldn’t go to war. He is either scared or not. Why do we
need the speech of the rinM?n Mwn?

(.2n 7®0) a2 a1 Qun DX 7277 KIAW AUw3A 7Rnen men

PUIY 022212 >TWW 027127 AU2IR T2 IXIUN DX 11EN PR1IKTN PR 02220 77 DK 10IK X0 70 7nnena
(:27 7IID) ORI PINX NN PO

| want to suggest that the Mwn 1712 makes them not scared. He says the four things to them to
counteract the four things the 0°2212 >72110 do to make them scared. He adresses the source of their
fears, and counteracts it. So when the soldiers hear the shouts and the stompings they remember the
words of the mnrn mwn.

PO DRI WX O 11 D219 22 TAXKIW 7N P10 1219 PRI 7172 79000 119 12 e 1 K
(:1 VD)

Don’t worry about being alone. Just keep learning. The 1N will be your companion wherever you go.
Don’t listen to people who try to scare you and tell you that if you continue learning day and night you
will be alone for the rest of your life. It is not true. The 7N will be your companion wherever you go.
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This was the name of a city. There were two D°X111X from X170 mentioned in 0”w.

(TP PTL) XMWBR KPR .1
XMION X7 .2

Interesting that | can’t find him quoted anywhere, but | see his two sons are quoted:

(21 °noD) XOMWDN XITTPIANXIPA N L1
(:7n PEe3) XMW X217 PRI .2

Touhy
(X:2 N97p) DPnAwn NN pon 3% N jar 92k

A time to spit, and a time not to spit.
A time to spit:

(.2 P23) IXTIN XDDY XDD M PY IR .1
X0 XP 12 127 27 2R ©vaN XD DUTA 92 P12 71277 X0 NP K 1 PIa Xen? 27 R K .2
(:on 0°773) W12 X2 MW NP 120X 12X P KNP DD P nw
(:M¥ P2IPL) PIPW TU MAK UK O KD P21 WONIwn AX IR AN .3
717010 APw) P9 21 X1 PINT LAY PN PRPIT A2 TRK 1 PR M 4
i
(2P M) 2372 XTI P LI AP L5

And a time not to spit:

XOX OXIWNA? PN DX NN 120X ORIV 9 KW 1N 271112712101 My wrph wt nx .1
(.Y PAIPU) 1PIAKP PP O7IX 0PN KM UXKIIWRD
DX 1721 2192 P T K PRI 0P41 92 DU vawna X PPPK TwUn DI NK D .2

(.71 w3r)
(:1n 7o) IS BU NINA AMNM D PRSNM 0EAND DT 110 P10 0N wn. 3

| want to make a few 0’17 based on this idea that there is a time when it is appropriate
to spit, and a time that it is not appropriate. The first P17 is in 712°37 that "X adds
XN, and the friend is “disgusted”. Why is it necessary to say this? Also why is 0?13,
“hidden”, if the spitting is being done in the open? | want to ask in the X711 in 1110,
what is the connection between the P1771 °2¥1n, and the 072N becoming D°LuNNNA?
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What do the spitters have to do with the D> 11?N? Also if spitting is so bad why not just
say spitters, why say >2w1n, which is the “extenders” of their spits? | want to say in both
XnY's we are dealing with someone who has every right to spit, and the reason is

because he is spitting X011 X1 which he is supposed to spit out X277 112w 1P 19°0K.

So what is he doing wrong? Even when it is appropriate to spit, there is a way to do it
that lessens the chance of your friend becoming disgusted by it. This way is by making
the spit travel the shortest possible distance straight down in front of your foot, where
you can cover it right away. If someone extends this distance, lengthening the saliva’s
air-time, and possibly making the distance at which it lands in relation to the spitter so
far that covering it over now becomes an inconvenience taking the spitter out of his way,
to the point that he might lose interest in covering it over, this is the wrong way to spit.
These are the two extremes. | want to say that the difference might be more subtle, and
for this reason PX1W in 712N terms it as being DUl hidden, and that it is only
something wrong if the friend is disgusted, and not inherently wrong. | want to suggest
this is because if the friend is disgusted this is because the spitting was done in a way
that made him disgusted, namely, the was “extended”. This is also the connection
between the P1771 Y11 and the 0> 11PN, The 012N have to spit as well, and so for
them to slightly extend the X0>71 X spit slightly is an easy mistake, which requires
care not to make. Perhaps this is the Y2 in the X1 in V10 that it was a sign of the
deteriorating spiritual status of the generation that the 1777 °2w1n who were
fundamentally connected to the 0’ 7°’nN because these were one and the same, these
P17 °2w1n grew in number, and this led to the lessening of the number of D> 11?N.

So let’s say it was a time to spit. What should be done with the spit now that it has been
spat?

(:X2p NAw) 11N °92 10717 P17 AT 1 TRKT
XMOXN DWwn W "D

| want to suggest maybe >’ means not just the XM10°Xn of having the person stepping on the
spit without realizing that he is about to step on spit (like a shock effect), but even just the
XMoo Xn of having the spit lying there in the open in 0’2771 mwA.

Perhaps it is of large quantity with extra pieces of 11°2 as 7> "1 mentioned in 1"217°U. Very
disgusting.

OK. So the spit has been covered. Are we done? Have we covered all of the M2%7 having to do
with spit?

Here is one more.
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97 X19°00 5"X D MK XPT DX PRTAN KA DX 71702 X123 KT XNDX TPAR X1 T 0 X310 0
(:11p M2IMN2) KT>

XDD "I XDPD " IXDD "M

Unanswered Questions From X525 ’1:

(.- 0°773) XD T PXIX IXD? T w2 XDD 10w L1
(.10 P12) 19> >N 71°N32 PYM 712°2102 P XD I Xua .2
(:2 P©23) 1P°N) XN T12°N5 72°0 P WS Iww A XD M Cua L3

Two M35 About Ritual Washing From X5 ’1:

1°N32 PY 719221032 PY XD U2 A0 072 PR 0 PR INIw A2 I PU2 K I XDD T IaR L1
(.1 7P123) 1PN °XN
(.TR P2IN) X123 120 INXK XDT 027D 1100 PRI PR KD TT XOPIX KA XDD TR .2

Streets Of Chicago: Peterson, Devon, Touhy

Que Dicen El Publico

Do we care what people say?
Here are some *wI°X *11X7 13°17’s of X908 "7:

(:2 P3) WK XD TWUNPK T DN A0 WK AKT 1370 XDD K
2 D) X917 XTI X191 0P XIAM XA PNWT N2 WK INKT 117 XDD M I0K
| | |
(:20 771210) NANDN XIND’XD 2°U5N XN WK *INKT 137 XD " 10X
(:2p PITI0) PO’ 2R PR UIDW WK PTAKT 117 XDD ' 0K
(:11°380) 210 PR N XIAM X2 X707 °22 1NDN WK 10K X
(:71X PITI0) IR FP010 71D TR DUTKT XTIN D811 10T WK PR 110 XDD ' 0K
(.22 NAW) >N X211 XD 1112 23X 001 TN D1 XNXIIMN 12X X XD 1)

NoubdwiNhiek
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Someone might question my inclusion of this last one in N2w N20N because it doesn’t say 11”11
MWK INXT. My response to this is borrowing the words of X955 "1 himself:

(. PAPY) RO PR R

Was That °27 Or 0°27?
(27 PAP) 177207 °27)

(.11 P23 X D) (.2 P°)) THO'?PW 0’277 71°Pnwn THO'?P X21°277 PRwn 00272 AT 0 P11
(:7u PL) D ‘]'?H’N 172 0°27 OA7AXT PR A0PY TR .2



